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HJAL/JEX HJTA/RAC
EY S AT E] TH L2051
B’ R T-9REES B’ R T-9REES
LR EEEE O EHEQ KN EEHEZR RN EEHE O EHEQEGNEEEEZR)
RER=AMR JAL | 12,000 47% 51%| 13,000 47% RR=%H JTA | 12,000 71% 72%| 15,000 65%
RRE =12 JAL | 12,000 67% 69%| 15,000 61% A= JTA | 12,000 65% 67%| 15,000 59%
RE=#LIE JAL 12,000 64% 66%| 15,000 58% 126 = F R JTA 12,000 56% 59%| 15,000 49%
RR=H% JAL | 12,000 71% 72%| 15,000 65% HER=FHAIE JTA | 24,000 60% 61%| 30,000 51%
AR =1 JAL | 12,000 45% 50%| 13,000 46%) BRR=\ JTA | 24,000 57% 58%| 30,000 48%
KR =#L1E JAL | 12,000 71% 72%| 15,000 66% BER=AXE JTA | 20,000 61% 62%| 25,000 53%
AR=#% JAL | 12,000 65% 67%| 15,000 59% Afr=F18 JTA | 24,000 50% 53%| 30,000 41%
1= = £L 1% JAL | 12,000 77% 77%| 15,000 72% 2EE=FH1E JTA | 24,000 55% 57%| 30,000 46%
B =3 JAL 12,000 56% 59%| 15,000 49% INR=FRER JTA 12,000 1% 72%| 15,000 65%
BRI =2 m 3l JAL 12,000 71% 72%| 15,000 65% LEE=EH JTA 12,000 69% 71%| 15,000 63%
R =18]I| JAL 12,000 70% 71%| 15,000 64% fig] L1 = FR &5 JTA 12,000 65% 67%| 15,000 59%
R =R JAL | 12,000 69% 71%| 15,000 64% W=7 % JTA | 12,000 62% 64%| 15,000 55%
RR=,(DEHEL JAL 12,000 69% 70%| 15,000 63% EB=Hia JTA 12,000 48% 50%| 15,000 38%
R = JAL | 12,000 62% 64%| 15,000 55% =Enh JTA/RAC| 12,000 31% 35%| 15,000 19%
BAR=55h JAL | 12,000 60% 63%| 15,000 54% RiE=24 JTA/RAC| 8,000 33% 35%| 10,000 19%
JAL | 12,000 59% 62%| 15,000 53% BE=AXE JTA/RAC| 8,000 32% 35%| 10,000 19%
JAL | 12,000 51% 55%| 15,000 44%) AiE=5E JTA/RAC| 8,000 32% 35%| 10,000 19%
JAL | 12,000 34% 41%| 15,000 26% BH=5BE RAC_ | 12,000 62% 64%| 15,000 55%
JAL | 12,000 45% 50%| 15,000 38%)
"'—ﬁfrEEim JAL 12,000 59% 62%| 15,000 52%
==FAl JAL | 12,000 60% 63%| 15,000 54% HJAC
R=LE JAL__| 12,000 61% 64%| 15,000 55% [ THJL/N—Z[8]
== JAL 12,000 65% 67%] 15,000 59%) B’ R T9RBES
JAL 12,000 62% 64%| 15,000 55% SN EHE O EHEER SN EEHETR
JAL | 12,000 59% 62%| 15,000 53% KBR =1&[E JAC | 12,000 45% 50%| 13,000 46%
JAL | 12,000 59% 62%| 15,000 53% AiR=%8 JAC | 12,000 59% 62%| 15,000 52%
JAL | 12,000 62% 65%| 15,000 56% ABR=17/MEE JAC 9,000 27% 27%| 10,000 19%
JAL | 12,000 62% 64%| 15,000 55% PN JAC | 12,000 46% 46%| 15,000 33%
JAL | 12,000 67% 69%| 15,000 61% AR=HE JAC | 12,000 38% 41%| 14,000 31%
JAL | 12,000 66% 68%| 15,000 60% BR=FAL0 JAC | 12,000 29% 38%| 14,000 27%
JAL | 12,000 69% 71%| 15,000 64% A=K JAC | 12,000 38% 44%| 15,000 30%
JAL | 12,000 67% 69%| 15,000 61% A== JAC | 12,000 49% 53%| 15,000 42%
JAL | 12,000 67% 69%| 15,000 61% BR=FERS JAC | 12,000 55% 59%| 15,000 48%
JAL | 12,000 69% 71%| 15,000 64% A= F5 JAC [ 12000 — 63%| 15,000 54%
JAL | 12,000 74% 75%| 15,000 69% AR=EAE JAC | 12,000 65% 65%| 15,000 56%
JAL | 12,000 34% 41%| 15,000 26% B =HE JAC | 12,000 53% 56%| 15,000 45%
JAL | 12000] -— 75%| 15,000 69% B =15 JAC | 12,000 51% 53%| 15,000 42%
JAL | 12,000 67% 69%| 15,000 61% 12 == I JAC | 12,000 39% 45%| 15,000 32%
JAL | 12,000 68% 70%| 15,000 63% ER=FERS JAC | 11,000 41% 47%| 12,000 42%
JAL | 12,000 64% 66%| 15,000 57% HE=[2Ik JAC 9,000 27% 27%| 11,000 1%
JAL/JEX| 12,000 66% 68%| 15,000 60% r"%ﬁ = I JAC | 12,000 49% 53%| 15,000 42%
JAL | 12,000 62% 65%| 15,000 56% RE=[EWL JAC | 12,000 59% 61%| 15,000 51%
JEX 12,000 61% 64%| 15,000 55% E R E=IL5 JAC | 12,000 49% 53%| 15,000 42%
JAL | 12,000 59% 62%| 15,000 52% RE=5 JAC | 12,000 59% 60%| 15,000 50%
JAL | 12000 — 46%| 15,000 33% % e =0 JAC | 12,000 53% 55%| 15,000 44%
JAL | 12,000 53% 57%| 15,000 46Y%) RE=1FES JAC 9,000 29% 29%| 11,000 13%
AR=HFA JAL/JEX| 12,000 49% 53%| 15,000 42% E E=EAS JAC | 10,000 28% 28%| 12,000 14%
PN A JAL/JEX| 12,000 49% 53%| 15,000 429% ERE=TXXE JAC 12,000 48% 53%| 15,000 41%
AE=FERS JAL/JEX| 12,000 55% 59%| 15,000 48% ELE.',%=§9?% JAC | 12,000 51% 51%| 15,000 38%
| KER=BXXE JAL/JEX] 12,000 67% 69%| 15,000 61% % weE JAC | 12,000 55% 59%| 15,000 48%
ZEE=%L1R JAL | 12,000 68% 70%| 15,000 62%) =hk B & JAC | 12,000 59% 59%| 15,000 49%
ZEE=(DERIE JAL 12,000 1% 72%] 15,000 66% 'F.',%=E}Eﬁ JAC 12,000 61% 61%] 15,000 52%
Z2EE=FFH JAL 12,000 63% 65%| 15,000 57% ﬁ%x%=§?ﬁ% JAC 7,000 26% 26%| 9,000 5%
ZEE=fH JAL 12,000 58% 61%| 15,000 51% BEAE=EZE JAC 9,000 32% 32%| 11,000 17%
ZEE=ILH JAL 12,000 58% 61%| 15,000 51% EEIN-= Aﬂﬁﬂ*ﬂ JAC 12,000 29% 29%| 15,000 11%
ZEE={lE JEX 12,000 58% 61%| 15,000 51% BEXE=5H JAC 12,000 39% 39%| 15,000 24%
AEE=HR JAL [ 12,000 53% 53%| 15,000 41% KRR =5 & JAC 7,000 30% 30%] 9,000 10%
ZEE=#0 JAL | 12,000 49% 49%| 15,000 36%
Z2EE=5% JAL 12,000 53% 57%| 15,000 46%
ZEE=1aR JAL 12,000 53% 57%| 15,000 46% HHAC
Z2EE=RI& JAL [ 12,000 62% 65%| 15,000 56% THYJL—ZI5]
ZEE=FEX JAL | 12,000 59% 62%| 15,000 52% B’ R T-9REFED
2EE=ER JEX 12,000 62% 65%| 15,000 56% HCIEEEO EHEREGMEERER
LEE=H JAL | 12,000 69% 71%| 15,000 63% ALIE =Sk HAC | 12,000 39% 45%| 15,000 32%
B =1l JAL | 12,000 72% 74%| 15,000 67% EBX=3% HAC | 12,000 39% 45%| 15,000 32%
12 =5 %0 JAL 12,000 49% 53%| 15,000 42% FLISE = ER AR HAC | 12,000 29% 33%| 13,000 27%
12 =l JAL | 12,000 42% 48%| 15,000 35%) B = HAC | 12,000 29% 33%| 13,000 27%
| 12 ==& JAL | 12,000 39% 45%| 15,000 32%) EEE=1B]I| HAC | 12,000 35% 42%| 15,000 28%
| AL 0% =25 Al JAL 12,000 44% 49%| 15,000 36% EEE =4I’ HAC | 12,000 53% 57%| 15,000 46%
| HLIR=FF JAL | 12,000 44% 49%| 15,000 36% HE=H5R HAC [ 10,000 36% 40%| 12,000 29%
KT JAL | 12,000 51% 55%| 15,000 44%
| tLIE=TE%& JAL [ 12,000 53% 56%| 15,000 45%)
EXEA JAL | 12,000 59% 62%| 15,000 52%
| AR ={l& JAL 12,000 58% 61%] 15,000 51%
| HIR=IL5 JAL | 12,000 74% 75%| 15,000 69%
| ALIE=HZE JAL [ 12,000 73% 74%| 15,000 68%
| HLIE=ES JAL | 12,000 74% 75%| 15,000 69%
=ExXAE JAL | 12,000 48% 53%| 15,000 41%
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